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Hauptachse Variante B1.5
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Blattgröße: 1505x420

Hochpunkt

Tiefpunkt

Damm

Einschnitt

Ausrundungsbeginn Wanne /
Ausrundungsende Kuppe

Neigungsbrechpunkt
mit Angabe von:
Ausrundungshalbmesser
Tangentenlänge
Stichhöhe
Bau-km
Höhe Tangentenschnittpunkt

Längsneigung und Abstand zum
nächsten Neigungsbrechpunkt

ZEICHENERKLÄRUNG

H    =   18000.000 m
T    =     562.500 m
f    =       8.789 m
km       5+453.077
h TS =     281.974 m
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Höhenplan
Abschnitt B - Variante 1.5
Knoten B181n-L178n

.2.3/4/A
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11/2023

gez. Zander

30.11.2023 gez. Schneider
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